Place Value and Shifting Digits

Q1  Write the following numbers in words.
a) 509 001
b) 980 093
c) 4 026 311

-----------------------------------------------------------------------------------
...................................................................................

----------------------------------------------------------------------------------

Q2 Put a tick next to the larger number in each pair.

a) 6 thousands or 61 hundreds
b) 70 hundreds or 702 tens
c) 598 tens or 6 thousands

Q3 Work out these sums in your head.
a) 626 X 100 = d) 240 x 1000 =
b)6700 + 100 = . . e) 95180 + 10 =
c) 8000 + 10 = f) 1000 x 100 =

.................

----------------------------------

Q4 Happy Potatoes cost 64p each.
They are put in bags of 10.

a) How much does 1 bag cost?

oooooooooooooooooooooooooooooooooooooooooooooo

b) A box holds 10 bags. How much
does a box of potatoes cost?

c) A lorry can hold 1000 boxes.
How much would it cost to buy a
lorry-load of Happy Potatoes?
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